Worked example Your turn

Determine the gradient and y-intercept | Determine the gradient and y-intercept
of the line with equation 3x + 5y — 4 = | of the line with equation4x — 3y + 5 =

0 0
Gradient =

W |

, 5
y-intercept = 3




Worked example Your turn

Expressin the form ax + by + ¢ = 0: Express y = 4x + 3 in the form
y =5x—2 ax+by+c=0
4x —y+3=0

y=-2x+5




Worked example Your turn

Expressy = %x — % in the form Expressy = gx — % in the form
ax + by + c = 0, where a, b, c are ax + by + c = 0, where a, b, c are
integers. integers.

x—3y—2=0




Worked example Your turn

Gradient: m = Gradientm= 1
y-intercept: ¢ = y-intercept: ¢ =—1
y=mx-+c — y=mx+c > y=x—1
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Worked example Your turn
Gradient: m = Gradientm = -2
y-intercept: ¢ = y-intercept: c = 2
y=mx+c - y=mx+c oy=-2x+1
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Worked example Your turn

Gradient: m = Gradient: m = Z
y-intercept: ¢ = y-intercept: ¢ = 2
y=mx+c¢ — y=mx-+c —>y=%x+2
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Worked example Your turn
Gradient: m = Gradientt m = _3
4
y-intercept: ¢ = y-intercept: ¢ = 2
x +2
= = - —_ — =
y=mx+c¢ — y=mx-—+c Y 2
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